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1 (a) Calculate i, using mesh analysis in the circuit shown in figla. _ [07] {COL} L2
(b) Find node voltages Vi, Va, Vs in the circuit shown in figlb. [03] | COI : 13

2 (a) Using node and supernode method find power delivered by 20V source in the [06] {CO§' (2
network shown in fig2a,

(b) Obtain the equivalent resistance Ras for the circuit shown in fig2b. [04] | CO4] 12
Fops
3 (a) Using mesh and supermesh analysis, calculate Iyshown in-fig3a, [04) !-('0'3 L2

(b) Using source shifting and source transformation method, determine the voltage  [06] ‘ED} L5
V shown in fig3b, |




T,

4(a) Referring the network shown in figda, find the power delivered by the [05] ?C(ME 1.4
dependent voltage source in the network.

(b) Find Vy, Iy in the circuit shown in figdb. 174 [05] CO2, LI
|
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3 (a) Obtain expression to convert delta connected impedances into equivalent star [05] COll L3
connected impedances. ) fomatilife b

(b) Find the equivalent resistance Ris for the figsb. [05] 'CO§ 13
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6. For the network shown in fig6, write mesh equations for the meshes indicated in [10] ‘Co4! 14
time domain. Draw dual network and write it's node equations.

[Om H




Seludeon of IAT-4.

,Su.[\gj‘e_ct ~ Electrce Ci vt AWJLJGM

b tads = IBEESE .

_I)ﬂ)|cfil.wm ) MW‘& mesh, qno.lad,ow Uy TN CALMTD NI v iy

S VP, W SV By
| | . o
- ,J' e~ -
[OBU‘F" IA/} {/ﬂ '—Ou'_lr__/ /‘D éﬁa‘j L

Applysg Fu. do e it manh
1038 [0° - T 4 ~ (&) E-L)=e
75 -(&j)z1+aj Ty= )2 b°
T, 42D + 8 Tg = 10J2 0% — (D
kvie d8 maah g
-6 — (&P (Ty-T,) ~(4j)(&,) =0
(-2 (-1 + WFs - ble°
AT+ ~8iTe= 61c°
YT g1 -6 0° — (@)
4- 8y &J-" ¢ /o0 _ [10 39 (0°
[caj' &jJ [ﬁj ki J
T, = EOJ..‘!_LQO 5{)'] _

6&_0 T
A

Ty

¢ & e +j "ol

RO -—J 4ol

3

= tﬁrj:‘a
2082 + 50l |\

lO: 2
ot = 2
= & = o0 28H
7 o |
'-\SXC,:':I :;’"—F-;.j
= QJ'
J#y, =80 )
) (2029

':—HJ

az\qﬁz' a_f\
© 19 9
- gy~ Wby ?
TRy -8t =ere




-

f %Yo .

' 5 Fond node aw— vollige V) Vo Vs dw He et show o

AN V&: i
4 6—6) 5 o VA
| ) s o \):3 = -8 V
gmR LAY Vg~V = 1OV
\)"1 = &V

& D 4 L
)9. Vdwmg node & duperncde mcthod gmd, Powen deliverzd by oV
pgﬁ\MrUZ. [SVia¥ m ﬂQinD‘tk_ J/Lﬂu)f'\- :

| — ___.. = ‘__
51

ri_“ 1 V' - ~-

A T e AD"

gore | Py L Le S

-~ = =

5 +) Yo S 2. 105V,

Gouv S ooy e
. L 1

Conalraind eﬁy° ok Supernode
Vi-Yy= 35T = 35xMs —@
V& = &o \*L,'___. 5 )
At c,éu?o_n roda EC L
-5 -+ B, - T+ SRS

4
=Gy
_\)‘6]—0 — -V 3 Ufb_ Vg - \);,_{-'O . 3'l&§(_ Ua—Ui)- "D@
I kg e 2

At oode 3 kel
L~ Ty &, %8

AN N (\;JVQQ o -0
o o= % = | R
| 4o Y

— 5
Ulnuq; 0+ RFSV;y
\y = QoV
oV - ~Va )=
“bv; —yov,+ YD %+ oV, —20oV,- Vy 850 (Vg ~V3) o
go




—

.—quul -q&004~ 3ce

uo V& = 110\‘5_

L7 S,

£ Ic)\ig —loVa + oV
Yo

Boo-SIVy+w©V,20 — @

Vi=-80- 8sv B

V"q Ié_.. Ve = g S_—_&o-: -80-85A
4 oV ] ey

Ve): IDV Ia:‘_ \'{rﬂ—\'{_ﬁ— &O"-‘O ,__,OH

i | - |

Y = -2av |

-20'A5A
P= 80«30 95- bosw

B Oblun deo  eguivledt swsistane R, o~ dhe ciicud

|[ ,'? 5 2 Iove
:‘ ._J"?-r/ . S0
E 5
; ",|_§._r-... %
T b ,
" o
R.‘ &~ ok = L _II
lJo+s +10o e
B e s .
[ lo+S4+10 2o =R
! Rs = SO = a?‘ﬂ_,.- "::1'_] - Ig'f 3
lOo+s4 10 l o
a‘.\g = Jod- _ -
i
| ‘_"'/lq"rv
50 ] « [= i
) O
b Tk
E |
.‘-’D ‘T ‘),(“( 5., '




"*‘/%I

39) Uarg mesh awk sufovmosh. avolysin ciledsts & T,

— 5 T2
M/\/‘_
20 v ) "___—l
||‘_ III = 'T) - ) IJ’ Il 4—__‘:
b . R NS Ta) S :1' I T
I T |
_ 27 T 1 A
3 = FAN "
.I ‘/1 -';é..u A § T/
e A

Fs-

I =

doT - st _ 4T,
15 - &qr —1«'51:3*

11534

) Uw,“,,ﬁ .ﬂomuijqurq‘@ Sounce M

Voli:ago,

AED—1

I3]= 3'1sA

Y. : “\,..
. o
bof L AR
ry =
.
(s | |
il
/ ) 2 9t
YN
LR i
1 a )/ N
iy Ly e o,
&3
. |
— P { {\ ‘
—r—r— B h
] 4 &y
y i TR ) =M o
] iy e
4 et | ) =}

— 0

315— &I HII:Q

Vi:&(l-lss— 3-15)
Ny .
L.= V1538

o o

, debormine He




' B

TR, . e e
%Hwn% . = b%omn..“}:fw otzq, no;l?.m»djo

'.’f_': S mA
Aff)‘ﬂdm&% Evi 35 ook
~URR +Sn) ~ Seefr, ) ~ @UEN(H-T)=0
K%, —Sver, (g F)Ig + 180T, HSym)T, =0
__.'-‘:H:C_I:‘:2 s a.q/t(ishg%) 4+ 159 G20
—-iﬂkr&_L 1SOT, = ¢
ISoC, - (r-cnc) Ly =% <)

I = T.- T
) il V= 182 (1) = Iso (—64ma)
T Ty= T = ~0'9Q\V

r:VI:S'EﬁSW

- N\ .
| - ‘ ) f‘
=l b 12 8 i
=508 s - e oF
T——_"l:w\__m,_]_l-w-_ _(:)___ 2prE ot
| | " |:; d-ng f. )
L 51V J .
23 0 = (DIRA
= poopd
J | e Ta i
2 . L3 £
=Y o™ e, - : o
A_ _a:/__':*-\‘__ _J._‘{\,_jl__ o __‘-] Y - MA - 4/—: \!____'
L B | 4 y
- L z < L <5 A
NS r
[ it @9 v
A €
f AN o
{ I)‘) v | - 1




b = T & s
tT—MA_A ATyt AT e
A 1 1 Wy 3y ; P
. Sy, ¢ (AN o
) coetlih | [
: [ | L |"|r
/J j II:‘I‘u' :IT:‘} I
WA . = (SIVg ~1'5Y (2)
- 153
X Jy N
Ii; ,- £-.—" ?’ \f 3)'6_
a3 If'l T LL . 3l'sv 7z = lo&v =3
S

B‘Sv:t-_ [Davi;-__j
Vx = 00485y

IS~
e Jun A

" eguivalet Zbase @ mnodted. w»f)qdwo

PE: 2 Rp -
/R N\
CThe Suatamce. acone | € =
Rag = RAII_ (’Ee»r R ) Rig = Q3+Q&
Rig= Rnﬁgieg) R+ R, = Bu(Re) + 2o, k.
QA—FRE*- R, eﬁ.;.p\%; e
™o fZuscstomce 9 & 3 _ _
Rae, = RCH (_Q&#— B ' KI+‘?‘J_: RCF?A+ Rcﬁs (n?)
Raa = R(:_fﬂ_&%)_ . Rarep @
€A+f36+ eb
e  Swosbane auow 2 € | &, - e4e,
R, J lelﬁe.ﬁ- €.) 914(23; R Rot.8, L
= Rg (Rpte.) -

€% R5+ %
Rﬁ""R&jf-le{’




Subthact @)
Ra+P- R —-R =

i R-R, -

Adduwiq (0) € (&

‘ C!?Qa; aﬁﬁﬁc_
! ZR
: &= Rk

ZR

10w
[ L
B

J»\om(!)
Rf’f Re’ + EAEC. - eﬂag-_

M s

4/9

Kake

Pﬁ-\- €&+ -

EA2L~ R&RC_
i ' Ra+ Rg+R,

— (W

Al

Furd dhe epivalodt Ksenstote Rpg

R
[ O,
MAS

s, T . _Z»r:n—-_m

=T K
& -5

/'%

| o Iy X . A A
il 2o 1oy 2.5 L 1
_ . B | 0 2. £V
Ry=& = Ry= x4 A R e A A
| c‘ﬁ_ct'{'q ‘]I/ e i s s
2 s -
STV W VY N Y
n g 10w I
R S - o
L S = 6730 )
%+l§45— - )\/—‘.—r =
\Jr/
RC = L4 R EY O - \
| g e 73, o
| Re= 1 yega
|
‘2 -y 257 1B L
pe - 190 —h - f VIV
RPN T T — T Y
g VI S
- g 6%
! 1+ S8 —W 3
MM [~y
o Lo |

Y - b




%
9 mencijoc/\b\&owﬁ,mmoA}VWn%m-N&x

10teH
sy l i) 0 ;{'{ 5
— MAsA o y 1”-{' |
r * ".’I: ) E] T‘_._ EJ::: (/ _
: ’__‘I) - - = 'ﬁ A ! N,
AR'ZAU S A < LT hits By
0 a w . [o°11 A% / ! -
| - o
- w——— O
= 4 el
KVl snosh |

-0t .
Qe 0t _ e’(ww)*-gg@,@dt:o
S0 &g : ‘
‘ B\ SQI““:) at =6

-k SR A
&@’ — L! -LQ = o]
9e7F - s (v — L (v -verdt =0
D-l
L.._,)—\;;L: o-t_al,l; o,gLLI_L'q)__ 2)

| . 3= ~0-1p70x o (8

Kve | MQAJ} i
| —10WE> dey -~ 80 (U Ls)= 5 (L,~1))=0
ak
| Kel ok aode |
i @@."m-il‘ —(s' = o

aef'f"‘_ g(vr’vu)“i" gk\a’t~\é)d4: =D
3 ol

Wa%)= o {Vi-tyy [ ke l‘l"LLl,
Usz “0-1e™0% by Z 1~V

At node bk Koo
‘ N ! 4 .
G+ L, — L§':D
C; |rU ~ Y. \1 22l G.-.- ol e A w leawr ._“




